- - n ~
BEMRMITEMZESRS & M B X
2015 5 MAY - <J<zg 1545 A) Pk 2 7;%@ ?@ : - (B 2ok
FA]_ &I W W& Bk & WD BT [ e =mb/8=) | MTRE | g GEMMN
N || SEE R L R ROREREERR QoD | ARt | (R T10408 | 098F | Bt | Sl | Skim> [2.0km>HEEEERE 500> | IMC | BLW 7%.4%?0%:1‘3(01%}?11;0{;}?1) B
g | 0P °c,> kO T R@m | k0| & (mm) (cm) (km) | (WER) | (MDD | (100R) | (WERRD) | (WERD | (D 1050718
1 .5 118.2 126.8 [ 12.5 16 | N 10 N - R 35.0 N 1
2 .4.119.4 128,91 9.7 i5 | Nl 10 N - - 40,0 : - T I
3 .3 118,7 124.6 114.7 20 | SSWl 13 5| 1.51] 0.5 0.5 15.0 100 ° ’ 13
q LT 117.8 123.9 112.4 22 S| 14 St 1.0 0.5 0.5 20.0 20 | ° 4
5 .2 114.4 119.8 | 9.9 17 N 10 N - - - 30.0 5
5 .7 116.0 {26.1 | 8.5 17 NI 11 N - - - 1 25,0 180 1 - 16
7 L2 117.5 123.9 1 12. 4 17 N 12 Nl - - - 25.0 120 B B B T
8 L1 0171 26,0 [ 11.6 17 NNE] 10 NNE{ - - - 20.0 /17 T 8
9 L0 116.1 122.2 112.4 15 N N| 0.5 0.5 0.5 5.0 70 [ g
10 .4 1137 1185 1 9.1 21 NI 13 N - - - 25.0 z 10
11 .9 [16.2 1 26.5 | 6.0 29 Si 17 S - - 35.0 /7 ] ,w S
12 .8 116.8 120.8 11.2 44 ST 29 S| 41.0 | 14.5 | 4.0 0.4 1 3.1 1.0 10 211 1.0 1@ == i
13 611911271 ¢ 9.7 24 | SSW_ 15 SWi - - - 35.0 N e 13
14 .1 [20.2 127.8 113.7 28 Si 17 ssw| - - - 40. 0 50 4
15 | .3122.06 128.9 17.7 14 NI 10 sswW| - - - 15.0 /17 115
16 5.5 16,8 119.0 [12.7 15 N 9 Nl 15.0 | 9.0 ] 3.5 4,01 1.5 15 1.5 16
17 .5 117.0 125.7 | 9.9 13 NI 10 N - - - 40.90 s 17
18 .9 |17.7 124.9 [13.3 22 SSEI 15 S| 11.5 | 5.5 1.5 8.0 70 1 e 18
19 .0 |18.1 24,5 [13.8 18 N 12 Nl 0.0 1.0 0.5 15.0 15 [ 19
20 .3 16,1 124.2 112.0 23 N 14 NI - - - 20.0 80 20
21 7 116.6 123.2 110.4 20 1 NNWi 11 NI - ~ - 40,0 21
22 .7 18,5 127.4 110.6 14 N 8 N - - - 45,0 /17 22
23 .3 [18.9 24,2 113.9 11 sW 8 s| - ~ - 35.0 120 - RN - B PR
24 .0 119.6 125.3 [14.2 13 N8 NNE| - - - 35.0 /// - 24
25 2 119.1 26,6 12.2 16 N 10 N - - - 35.0 90 i ES
26 .3 119.9 :127.7 112.5 15 NE 9 MNE] - - - 35.0 ) 126
27 .6 121.1 30,5 [ 11.9 14 N 9 N - - - 35,0 [/ B 127
28 L0217 130.3 [13.6 | 13 SSE 8 SSW| - - - 30. 0 /// o |28
29 L1 122,92 129.2 16,2 15 N 10 N - - - 20.0 180 - 129
30 .5 [19.7 {28.5 14.9 13 N 8 NNE| 2.5 1 1.5 ] 1.0 20.0 70 | ® 30
31 6 [17.8 121.8 114.0 13 NNE 9 Nl 0.5 0.5 0.5 10.0 20 1 ° 31
)] .4 116.9 124.0 |11.3 3.0 ‘ 0.0 1 0.0 0.0 ] 0.0 0.0 (REBBWMO uegm@m
D) L1 117.9 1249 112.0 67.5 | 4.6 | 1.0 0,0 3.6 10| ®m ) = h
T4 .8 119.6 126.8 {13.1 3.0 0.0 | 0.0 0.0 00 0.0]|=ms R&E %%
A .4 [18.2125.3 [12.2 73.5 | 4.6 ! 1.0 0.0 ] 3.61 1.0 2 dhbh % HEh w FkiS
hriE| 30.5 | 6.0 44 S| 29 S| _41.0 | 14,51 4.0 a B - A prs FHESE SQ Azow
EH 27 | 1 12 12 12 12 12 I f=o% ™ B B #w
M| 4 # 119.1 126.9 ]12.5 20,6 1 SW 110.7 5 75. 0 {ii & oo fEi
B VEE (/7.4 1258 1121 1 m/s) i 12 | (n/s) 12 1128.7 Fi K> Pk RS, T EiEE2
P itk Al H : i}?% B (EMH#F%) INC + BLVE OB RIATH K W5 BT
L TH B mREE (8 %] HEKE 15 %] 3 % B %] H H % INC [ BLY [INCOIT| (O 1ML EDBLEZSEA LA
BE_ 0C> 0 10KT = 18 0. Smn= 8 i 8 S 0 | o IRFHE 2 1 2 | -
25C= 17 06T |1 1. 0mm= 6 B 1 Bz 0 | 0 1~2 9k 2 1 1| @ 28H: 98‘1%&&«@'}“ S DEE
30C=s |2 10. 0= 3 = 0 3. 0~4, 9WFRT 0 0 1 EMaBER AETR)
K 0C> 0 30. Omm= 1 - 0 5. oW = 0 0 0
IROES 0 [IN) 0 INC - BLWZ U 9 30 29 ~




